Quiz 1 — Addttsnal Problems

®SO\V(’, \a(x.}j.\ﬂdx 4 (x.}'Z(‘pd\S:-O

(Yo) shwows dats 15 vt exack
MO) we fnd Ahe M-kjrw\\w-j fuctw T.F.= e

Sou .

Ww\'\ivh.s bj T.C.) e" .

ij(x+t3-n\ dx +cx(;<+'z\d~] =0
N(\((j\

™M (*"j\

-‘(m‘s\-'— Sﬂ(x'w\dx X 3(3‘)
- S e"\j(x«f\\\dx +q4)

ey o N+
T I R

¢ +c"~3‘~ +3(j\

= 3x(_

_ai = eX(x-) + ZCK‘S f CK _\_3'(1\ = c_x(X""Zis\

o
J
& s 354 vl &+ 2q€
C&'(U}\ = O
3('3\ = C

-F(X.‘S‘ = \3@‘():—\\ + (’K‘]z +ij + C’
= «jx(_“ + tj‘c‘ + C

Solvhun -F(x,@ =D

¥ V‘Sl((’kc

D

bxc

| xye” +yte”

*\1‘ \\




@ .So\\LQ .

e

(&) Shows Hhis is Womo
@ () tSM,s a ?oss%\ou. $

ovSsS

(\Jz-}vt)dx +)<7'dj = 0O

¢h b,

v an also use )

(n

SOL\.
La's use  The st W= g w= X/
x =
Se !3: WX
C\\l = udx 4 xdw
s\,\os\*i'\v\'M.j who
=0

we. cb&*
(QAQ‘ ¥ (wx)

TR S ux’)olx +

Wxidx + uxtdx

W’ x bt 2 ux?dx
(u?x®+ Zuxz) dx
x* (uz+ Zu) dx

2
_____)<3 dx =
X

dx

\

A
X

Q)Lﬂjx)dx + x? dj

N 4 o (berraa) = O

udx + xSdu =

4 Xiudx 9 xda =0
4+ x2eda =C
= - )(gﬂ(/(&
- - x*du
= ! du
Uztau
- / Au_—_— [__————A -+ —--—-—‘—'B A,IA
M_(u'fZ) w wut 2
Alut2) + Bu = =
Au+ 2h + Bu =— |
Q'r'*B)u-*ZA ==
A= -
2
A’+.B=O =‘>B=—L
2-



2Inlx| + In [ul - /n/u-}z/ = D
In(x‘) + /u/ — In /k+2/ = D

)“(_X_z_ﬂi/— =’D

In+2)/

X&/M_/ ~ ‘D___ E
[w+2/

2

)(L(—F

uw+ 2

(%) | ¢

—

% +2
‘(4 = F(3+2)

r:;& = F(j4-2x)]




